
10975373
GR2704.20081

Milling spindle

Technical features

Machining position

No 3-side view is currently available for this product

1 / 7

https://ixshop.ixworld.com:443/no/en/Exchange-spare-part/Spindle/Milling-spindle/Milling-spindle/p/000000000010975373


10975373
GR2704.20081

Documents

No downloads available for this product

Accessories

Optional accessories

Turcon® Glyd Ring®

Shaft packing
Product ID :  10277776
Previous product ID :  479161.0101

Ext. manufacturer
product line
Trelleborg

TSS material no. Groove base diameter
10 Millimeter

Groove width
2.2 Millimeter

Bore diameter [mm]
14.9 Millimeter

Ext. manufacturer
product line
Turcon® Glyd Ring®

O-Rings

O-RING 164,77 X 2,62
Product ID :  10832795
Previous product ID :  479102.1642

Ext. manufacturer
product line
Trelleborg

TSS material no. Cord size
2.62 Millimeter

Ext. manufacturer
product line
O-ring

Gasket ring
Product ID :  10708021
Previous product ID :  479102.1452

Ext. manufacturer
product line
Trelleborg

TSS material no. Cord size
2.62 Millimeter

Ext. manufacturer
product line
O-ring

Maintenance packages

2 / 7

https://ixshop.ixworld.com:443/no/en/Turcon%C2%AE-Glyd-Ring%C2%AE/Shaft-packing/p/000000000010277776
https://ixshop.ixworld.com:443/no/en/O-Rings/O-RING-164%2C77-X-2%2C62/p/000000000010832795
https://ixshop.ixworld.com:443/no/en/O-Rings/Gasket-ring/p/000000000010708021


10975373
GR2704.20081

Rubber seal FL 3X 5 OELFEST S FL 3X 5 /SW
Product ID :  10512652
Previous product ID :  322143

O-RING 6 X1.8 6,07x1,78 V70SH
Product ID :  10771333
Previous product ID :  479103.0061

Other accessories

Gib
Product ID :  10233853
Previous product ID :  R72001.20

Gasket ring S33-158x168,5x4,2 H-PU/NBR Ec.
Product ID :  10759617
Previous product ID :  479161.1581

Gasket ring S33-148x158,5x4,2 H-PU/NBR Ec.
Product ID :  10278544
Previous product ID :  479161.1481

Cylinder head screw
Product ID :  10979760
Previous product ID :  410260.0550

SOCKET HEAD SCREW
Product ID :  10192036
Previous product ID :  410260.0530

Gib
Product ID :  10992871
Previous product ID :  R72021.30

3 / 7

https://ixshop.ixworld.com:443/no/en/Maintenance-packages/Rubber-seal-FL-3X-5-OELFEST-S/p/000000000010512652
https://ixshop.ixworld.com:443/no/en/Maintenance-packages/O-RING-6-X1-8/p/000000000010771333
https://ixshop.ixworld.com:443/no/en/c/Gib/p/000000000010233853
https://ixshop.ixworld.com:443/no/en/c/Gasket-ring/p/000000000010759617
https://ixshop.ixworld.com:443/no/en/c/Gasket-ring/p/000000000010278544
https://ixshop.ixworld.com:443/no/en/c/Cylinder-head-screw/p/000000000010979760
https://ixshop.ixworld.com:443/no/en/c/SOCKET-HEAD-SCREW/p/000000000010192036
https://ixshop.ixworld.com:443/no/en/c/Gib/p/000000000010992871


10975373
GR2704.20081

SOCKET HD.SCREW 4X16
Product ID :  10575057
Previous product ID :  410260.0416

Flange
Product ID :  10207023
Previous product ID :  R72041.20

HEXAGON HEAD SCREW
Product ID :  10578883
Previous product ID :  410260.0306

Gib
Product ID :  10429184
Previous product ID :  R72021.10

SOCKET HEAD SCREW 4X20-912
Product ID :  10190245
Previous product ID :  410260.0420

Gib
Product ID :  10047710
Previous product ID :  R72021.60

Bush
Product ID :  10315798
Previous product ID :  R72032.80

Cover
Product ID :  10944450
Previous product ID :  R72022.50

4 / 7

https://ixshop.ixworld.com:443/no/en/c/SOCKET-HD-SCREW-4X16/p/000000000010575057
https://ixshop.ixworld.com:443/no/en/c/Flange/p/000000000010207023
https://ixshop.ixworld.com:443/no/en/c/HEXAGON-HEAD-SCREW/p/000000000010578883
https://ixshop.ixworld.com:443/no/en/c/Gib/p/000000000010429184
https://ixshop.ixworld.com:443/no/en/c/SOCKET-HEAD-SCREW-4X20-912/p/000000000010190245
https://ixshop.ixworld.com:443/no/en/c/Gib/p/000000000010047710
https://ixshop.ixworld.com:443/no/en/c/Bush/p/000000000010315798
https://ixshop.ixworld.com:443/no/en/c/Cover/p/000000000010944450


10975373
GR2704.20081

SOCKET SET SCREW 5X10-914 M 5x10
Product ID :  10392509
Previous product ID :  410166.0510

Valve M8
Product ID :  10797947
Previous product ID :  477178.01

Cylinder head screw
Product ID :  10906433
Previous product ID :  410270.0525

Rotary delivery device 000-1660
Product ID :  10276972
Previous product ID :  475121.0061

Restrictor
Product ID :  10064754
Previous product ID :  477196.4050

SET SCREW 8X8-913 M 8x 8
Product ID :  10921433
Previous product ID :  410156.0808

Cable Passage
Product ID :  10465318
Previous product ID :  498199.0081

SOCKET HD.SCREW 6X30
Product ID :  10717712
Previous product ID :  410260.0630

5 / 7

https://ixshop.ixworld.com:443/no/en/c/SOCKET-SET-SCREW-5X10-914/p/000000000010392509
https://ixshop.ixworld.com:443/no/en/c/Valve/p/000000000010797947
https://ixshop.ixworld.com:443/no/en/c/Cylinder-head-screw/p/000000000010906433
https://ixshop.ixworld.com:443/no/en/c/Rotary-delivery-device/p/000000000010276972
https://ixshop.ixworld.com:443/no/en/c/Restrictor/p/000000000010064754
https://ixshop.ixworld.com:443/no/en/c/SET-SCREW-8X8-913/p/000000000010921433
https://ixshop.ixworld.com:443/no/en/c/Cable-Passage/p/000000000010465318
https://ixshop.ixworld.com:443/no/en/c/SOCKET-HD-SCREW-6X30/p/000000000010717712


10975373
GR2704.20081

Holder
Product ID :  10585151
Previous product ID :  R72041.10

Cylinder head screw 12.9 M8x25 4762
Product ID :  10564276
Previous product ID :  410260.0825

Gasket ring A8X11,5-7603-CU
Product ID :  10340689
Previous product ID :  479022.0811

HEX NUT 8 M 8-10
Product ID :  10402519
Previous product ID :  415610.08

WASHER B 8,4 brueniert
Product ID :  10407978
Previous product ID :  419010.08

Cover 113 x 98 x 6
Product ID :  10038357
Previous product ID :  R72011.20

SIMRIT STRING
Product ID :  10405796
Previous product ID :  345708.0503

Cylinder head screw
Product ID :  10954673
Previous product ID :  410270.0510

6 / 7

https://ixshop.ixworld.com:443/no/en/c/Holder/p/000000000010585151
https://ixshop.ixworld.com:443/no/en/c/Cylinder-head-screw-12-9-M8x25-4762/p/000000000010564276
https://ixshop.ixworld.com:443/no/en/c/Gasket-ring-A8X11%2C5-7603-CU/p/000000000010340689
https://ixshop.ixworld.com:443/no/en/c/HEX-NUT-8/p/000000000010402519
https://ixshop.ixworld.com:443/no/en/c/WASHER/p/000000000010407978
https://ixshop.ixworld.com:443/no/en/c/Cover/p/000000000010038357
https://ixshop.ixworld.com:443/no/en/c/SIMRIT-STRING/p/000000000010405796
https://ixshop.ixworld.com:443/no/en/c/Cylinder-head-screw/p/000000000010954673


10975373
GR2704.20081

O-RING 6,9X1,8 75SH
Product ID :  10214034
Previous product ID :  479103.0062

Rivet
Product ID :  10673457
Previous product ID :  401250.3008

Screw M24 X 1,5(AG) M16 X 1,5(IG)
Product ID :  10894585
Previous product ID :  R82061.30

Gasket ring
Product ID :  10507905
Previous product ID :  479022.2429

7 / 7

https://ixshop.ixworld.com:443/no/en/c/O-RING-6%2C9X1%2C8-75SH/p/000000000010214034
https://ixshop.ixworld.com:443/no/en/c/Rivet/p/000000000010673457
https://ixshop.ixworld.com:443/no/en/c/Screw/p/000000000010894585
https://ixshop.ixworld.com:443/no/en/c/Gasket-ring/p/000000000010507905

